AQA C1b Atomic structure and the periodic table Elements used
Combined Foundation Before the to be arranged Early periodic tables were incomplete. Some
discovery of in order of elements were placed in inappropriate groups if the
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Halogens are made of molecules Halogen atoms have 7 electrons in o £ The reactivity of Group 1 elements As you go down the group the atoms get bigger. This
& . o . ) o increases as you go down the group | means that the negative outer electron is further
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They form -1 ions = rom the positive nucleus so it is more easily lost
o atoms. =
- . - . ] = e.g.
I
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As the atoms get bigger, the nucleus e o 5 forms a metal metal + water > metal hydroxide + e.g.
reactivity decreases down the group| s further from the outer shell so has ] S § hydroxide and hydrogen
less pull on electrons E 2 hydrogen 2Na +2H,0 = 2NaOH + H,
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£ forms a metal halide 2Na + Cl, = 2NaCl Jo 2 % chloride 2Na + Cl, = 2NadCl
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@ | forms ahydrogen hydrogen halide
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- og_ 8| They are all gases but their boiling The atomic mass increases as you go down the
o A more reactive § points increase as you go down the group. The atoms get heavier and more energy is
S 8 halogen will chlorine + potassium O group. needed to make the element boil.
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